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Example 1: Determine the binary equivalent of (36)

e P e S
2| 36 Remainder 7
____E__ 0 Least Significant Bit (LSB)
2| 9 0 I
2| 4 I
>0 o 0 |
'":—J_ ! 0 E
Dt 1 Most Significant Bit (MSB) |

Taking remainders in_re\rerse order_,' we have 100100. Thus, the binary equivalent of (36),, is (1001 00),.
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Example 2: Determine the binary equivalent of (671)

10°

Taking remainders in reverse order, we have 1010011111. Thus, the binary equivalent of (671),, is
(1010011111),.

In every number system, we will number each bit as follows:
@ The first bit from the right in a binary number system 1S bit position zero.
m  Each bit to the left is given as the next successive bit number.

2= 67 Remainder . E
2335 1 Least Significant Bit (LSB)
2 |l67 1 T
2 83 1
2 41 1 .
2 20 1 =
=
2 10 0 g
2 5 0
2 2 I |
2 1 0
0 Most Significant Bit (MSB)
E

Here, bit at position zero is;usually referred to as the LSB (least significant bit). The first bit from the
Jeft is typically called the MSB (most significant bit). In the above examples 1 and 2, the LSBand the
MSB are indicated. The intermediate bits are referred by their respective bit numbers.
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